

28.10.18 - 3 ימים - 4 ימים

$$\text{nil}(P) = \bigcap P \text{ פסוק}$$

$$\forall P \in \text{Spec} R \quad x \in P \Leftrightarrow \exists n \times x^n = 0 \Leftrightarrow x \in \text{nil}(R) \quad \text{הוכחה}$$

\downarrow
 כל $x \in P$ אז $x^n = 0$
 כל $x \in P$ אז $x^n = 0$

$$\Rightarrow \text{nil}(R) \subseteq \bigcap P \text{ פסוק}$$

נניח $x \in \bigcap P$ אז $x^n = 0$ לכל $P \in \text{Spec} R$.
 נניח $x \notin \bigcap P$ אז $\exists P \in \text{Spec} R$ כזה ש $x \notin P$.
 אז $x \in R \setminus P$ ו $x^n = 0 \in P$ אז $x \in P$ (כי P אידיאל ראשי) - סתירה.

$$\exists n \quad x^n \in P + aR, \exists m \quad x^m \in P + bR, x^{n+m} \in P + abR$$

$$\text{אז } ab \notin P \Leftrightarrow P \neq P + abR \Leftrightarrow P + abR \notin \mathcal{T}$$

$$J(R) = \bigcap M \text{ "ז" כל המינימלים של הפולינום } \quad \text{הוכחה}$$

$$J(R) \supseteq \text{nil}(R) \text{ הוכחה}$$

$$x \in R \quad y \in R \quad \text{אם } R \neq 0 \quad \text{אז } 1 - xy \in R \Leftrightarrow x \in J(R)$$

ל $p \in R$ אז $1 - px \in R$ אז $x \in J(R)$.
 $\frac{1}{1-x} = 1 + x + x^2 + \dots$
 $\frac{1}{1-x} = 1 + x + \dots + x^n$

$$\text{הוכחה } \text{אם } x \in J(R) \text{ אז } 1 - x \text{ יחידה } \quad \text{הוכחה } \text{אם } 1 - x \text{ יחידה אז } x \in J(R)$$

$\forall x \in I$ \subseteq M $\xrightarrow{\text{של } M}$ $\text{של } I$ $\xrightarrow{\text{של } I}$ $\text{של } M$ $\xrightarrow{\text{של } M}$ $\text{של } I$

(2) $x, y \in M \Rightarrow x \in R$ $\text{ של } x \in M$ $\text{ של } y \in M$
 $M \subseteq J(R)$ $\text{ של } x \in J(R)$ $\text{ של } y \in J(R)$ $\text{ של } x+y$
 $N = J(R) \cdot M \subseteq J(R) \subseteq M$ $\text{ של } N$

$N = M \Leftrightarrow N$ $\text{ של } M$ $\Leftrightarrow N \subseteq M$

הוכחה: $I+J$ $\text{ של } I \cup J$ $\text{ של } I \cap J$
 $\{ \sum_{i=1}^n x_i y_i : x_i \in I, y_i \in J \} = \langle xy : x \in I, y \in J \rangle = I \cdot J$

$I_1 \cdots I_n = \langle x_1 \cdots x_n \mid x_i \in I_i \rangle = \{ \sum_{j=1}^n x_{1j} \cdots x_{nj} : x_{ij} \in I_i \}$

$I \cdot J \subseteq I \cap J \subseteq I, J \subseteq I + J$
 $I \cdot J = \langle ab \rangle$ $J = \langle b \rangle$ $I = \langle a \rangle$ $R = \mathbb{Z}$
 $I + J = \langle \text{gcd}(a,b) \rangle$ $I \cap J = \langle \text{lcm}(a,b) \rangle$

$2\mathbb{Z} \cdot 2\mathbb{Z} = 4\mathbb{Z}$
 $2\mathbb{Z} \cap 2\mathbb{Z} = 2\mathbb{Z}$